Datenblatt / Data Sheet MGB2-L1HEB-PN-U-S1-CA- -

EUCHNER

..-R-... X2

Detail A

Sperreinsatz im ausgefahrenen Zustand

2155286 -2-14.05.25-ER- - Blatt/sheet 1/1

EUCHNER GmbH + Co. KG KohlhammerstraBe 16 70771 Leinfelden-Echterdingen

Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de

g SLOT1 Automatic lockoutbar in "open" position.
=
> _
5 | 8 D
w
c
E 8 1 A
[=)
- 1
= N 1l | \\|
£ g | LJ,
=
2 = 8 N
@ ®
Inklusive:
C O OB I I W) _ - - Erdungsschraube M6x8
m = XD1/XD2 M12 L-coded 4-pol (AC-FE-GS-M6X8-170020)
m [
= XF1/XF2 M12 D-coded Including:
Qe - Grounding screw M6x8
IEC 61076-2-101 Y
f; — =) ( ) (AC-FE-GS-M6X8-170020)
o (+ Dt
T
5 /
§ XF1 PN1 / XD1 DC24V
e XF2 PN2 XD2 DC24V
=
T <=
[&) P
o M6 @ D[ D = = @ =] @
© inklusive Funktionserde Montagematerial
. Betriebsanleitung beachten assembly material for functional earth included 5 R _ : : E ;
S (bei Abweichungen zwischen Datenblatt und 3 e i o o & : ui
2 Betriebsanleitung gelten die Daten des Datenblattes) @ =9 =9 3 = 5 S @ = @
£ Please observe the operating instructions = =0 =% <X <X = = =
L in case of disagreement between data sheet and
£ gperaﬁng instrugcﬁonsv the information of the MGB2-L1HEB-PN-U-51-CA-R-175855 136776 | 173793 | 168644 | 157024 | 156718 | 136691 | 169489 | 100465
£ data sheet are to be considered) MGB2-L1HEB-PN-U-51-CA-L-175856 136776 | 173793 | 168644 | 156718 | 157024 | 156394 | 169489 | 100465
kS
>
o
©
]
8
@©
[}
£
S
B
% Ubersicht der Kommunikationsdaten:
& Overview of the communication data:
(72}
> Input
3 Ethernet!) standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
§ \ 1st Byte | BM_EG | - BM_E_SYS - - BM_E_ML2 BM_E_ML1 BM_D_RUN |
% \ 2nd Byte \ Diagnose Byte (pluggable) |
e Ethemet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
"g’ 1st Byte M1 EG [ WMIEER | LMI_ESM1 [ LM1E_SMO | - [ M1 UK [ LM1_LSK | LM1_D_RUN
= 2nd Byte - - - | - [ - [ oL | Mi_LoT [ Lm1_I_OD
2 3rd Byte Diagnese Byte (pluggable)
=)
o
% Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
£ \ 1st Byte \ - [ - | - [ - | - | LM1_SM1_I S3 | LM1_SM1_| S2 [ LM1_SM1_L_S1 |
=
[5]
g Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
bt \ 1st Byte [LM1_SM2_E_S3] - [ LM1_sm2 E_S1 | - [ - [ LM1_SM2_I S3 | - [ LM1_sm2_|s1]
= ‘ 2nd Byte Diagnose Byte (pluggable)
>
w
= _.__Ethemet!'SAFE Bit7 _  _ _ Bite | Bits . _.._. Bt4 _ _ _ Bit3 S Bit2 ._.._Bit1 S Bit0 |
2 A - - ! - . I IM1_sM2_FI_s3 'tmM1sM2 FLES! M1FLUK | Lm1FISK !
3 = 1 L R, [ F AT T b T T N i
2
ES Output
S Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
g \ 1st Byte | BM_ACK G | - - [ - | - \ - | - - |
c
<<
o Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
< \ 1st Byte | LM1_ACK_G [LM1_ACK_ER]| - [ - | - \ - | - [ w1ocL |
c
[}
s Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
8 \ 1st Byte \ - - [ LM1_SM1_O_H3 B[LM1_SM1_O_H2_B|LM1_SM1_O_H1_B|LM1_SM1_O_H3|LM1_SM1_O_H2[LM1_SM1_O_H1|
o
>
& Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
=4 \ 1st Byte \ - - - [ - [LM1_SM2_O_H1_B] - | - [Lm1_Sm2_o_H1|
]
£ ____Ethemet'sAFE | Bit7 _ . _ Bite | Bits . _ Bt4 _ _ __Bit3 . Bit2 _  _ _ Bit1 _ . _ .| Bit0 .
[ [ [ I I I [ [ I i
% : : - : - : - : - : - : - : - i LM1_FO_CL
R g U L Lo . . e 1
% ) Ethernet Protokoall in Abhéngigkeit des verwendeten MBM Busmodul / Ethernet protocol according to the used MBM Busmodul
(5]
2



	Blatt1
	Zeichenansicht3
	Zeichenansicht4


